| Efficiency vs Dxy |

.05
Pad
j®)
@045
>
D.04
D
035
T
0.03
0.025
0.02
0.015
0.01
0.005

o+

Rat

1

0.95

..........................................................

0.9

520 -15-10 =5

0 5 10 15 20 25
TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_V00UI_RO0000000T_Global
—e— DQM_V0001_R000000001__Global
—+— DQM_V0001_R000000001__Global

CMSSW_o71g
CMSSW_X_Y_Z_all7
CMSSW _hpt08

N 0.1
o

Rati

0.95

e I
3 F : :
POBE e P
Q C H .
.07 bbb e
O C : :
0] e B e 1 R S A Fpee
0,05 il FL]
T S 0 | S — i
0.03F k| Moot e
o s, ; . N
0.02f -~ {rHftf i
0.0 1t HE R e LS
OJ--LAO:I 1 Uil 11 1 1 I 11 1 1 I 111 1 I 111 1 11 1 1
iH
0

-30

20 30
TP dz (cm)

=20 -10 10

—— DQM_V0001_R000000001__Global__CMSSW_dt08




	Contents
	Page 1


